631258 Identif.CD: Narex CZ

str.1od 5



631258 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.
1 429872 Sroub 10 | 4x16-Z
2 648982 Kapota 1 |OF 2361 26,60 CzK
3 628370 Regulator 1 | EFHP 36-E9 453,20 CzK
4 836534 Cep 1 |OF 2361 42,80 CzK
5 |654477 Pipojné vedeni 1 | 1x0.75x260 LIY 18,20 CzK
6 |654485 Pipojné vedeni 1 |1x0.75x100 LIY 18,90 CzK
7 |701211 Pipojné vedeni 1 | 1x0.75x260 LIY 18,20 CzK
8 678716 Pfipojné vedeni 1 | 1x0.75x60 LIY 6,30 CZK
9 66627033 Kartac; sada 2 ks 1 |EBU15G 86,50 CzK
10 | 625588 Drzak kartace 2 | EFHP 36-E9 19,50 CzK
11 |627152 Sroub 2 |4x12 Eco-syn 10,00 CzK
12 | 655058 Konektor propojovaci 2 |OF 2361 2,10 CZK
13 | 656704 Tachokrouzek 1 |OF 2361 46,70 CzK
14 | 842302 Packa spinace 1 [EFH 36 8,30 CZK
15 | 649686 Tahlo spinace 1 |OF 2361 8,90 CZK
16 | 761272 Desticka 1 |OF 2361 2,90 CzK
17 | 654019 Pruzina tla¢na 2 |0.8Ax6.3x33 8,30 CzK
18 | 655597 Spinac 1 | Marquardt 1200.0201 125,60 CZK
19 623377 Kondenzator 1 | 0.22uFx2 MKT; 250V 18,20 CzK
20 |842296 Kryt 1 |EFH 36 26,60 CzK
21 | 842297 Kryt 1 |EFH 36 26,60 czZK
22 | 406572 Pohyblivy pFivod 1 |HO5 RN-F 2x1 EURO 91,60 CzK
23 | 645885 Navlacka 1 |7.5/9x68 5,60 CzK
24 | 66761618 Pfichytka 1 |SYM70 15,30 CzK
25 |842319 Kolecko hloubkového dorazu 1 [EFH 36 39,60 CZK
26 | 648663 Stupnice 1 |OF 2361 24,20 CzK
27 | 842306 Motorova skiin 1 |EFH 36 289,80 CzK
28 | 429937 Nyt trubkovy 2 |OF 2361 10,30 czZK
29 |630574 Stator 1 | EFHP 36-E9

str. 20d 5



631258 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.
30 |654000 Podlozka 2 |OF 2361 17,10 CzK
31 |426504 Sroub 2 | ST 3.9x60-C-H 17,10 CzK
32 |841506 Pruzina 1 |1.0Ax9.3x305 18,10 CzK
33 |841507 Pruzina 1 |1.0Ax9.3x410 21,50 CzK
34 | 761561 Pojistny krousek 1 |16xt 1,30 CzZK
35 |841484 Vodici sloupek 1 |OF 2361 47,30 CZK
36 |649554 Vzduchovodna vioZzka 1 |OF 2361 18,50 CzK
37 |653463 Rotor 1 |OF 2361 992,90 CzK
38 |648671 Hloubkovy doraz 1 |OF 2361 285,30 CzK
39 |653748 Svérka 1 |OF 2361 24,20 CzK
41 | 722901 Pruzina 2 | 2.0Ax23x24 25,00 CzK
42 | 264911 Podlozka 2 (10.5 9,60 CzK
43 (630246 Sroub 2 | M8x70
44 | 614467 Matice 2 |M4 9,60 CzK
45 434004 Sroub 2 | M4x25-Z 17,10 CzK
46 | 66614955 Lozisko 1 1627221 MC3 E 36,50 CzK
47 842203 Loziskové viko 1 |OF 2361 710,70 CzK
48 430137 Sroub 1 | M5x12-H 9,60 CzK
49 | 761542 Podlozka 1 |S5 14,50 CzK
50 |[649430 Packa upinani 1 |EFH 36 10,50 CzK
51 |654396 Sroub 1 | M10LHx30 25,70 CzK
52 | 504165 Pruzina 1 |1.1Ax12x20 18,20 CzK
53 |504149 Upinaci pouzdro 1 |OF 2361 17,10 CZK
54 619873 Sroub 1 | M6x30/30 11,00 CzK
55 |648744 Blokovani 1 |OF 2361 42,10 CzK
56 |653713 Matice 1 |M17x0.75 52,40 CzK
57 |835824 Klestinové pouzdro 1 (8
58 |[623411 Matice 1 |M15x1 79,70 CzK
59 |654701 Deska 1 |OF 2361 17,10 CzK

str. 30d 5




631258 Identif.CD: Narex CZ
Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. I.
60 |614841 Sroub 1 | M4x12 9,60 CzK
61 |614774 Sroub 4 | PT 40x40 K-Torx 9,60 CzK
62 |614468 Matice 3 |M5 9,60 CzK
63 | 761491 Sroub 3 |M5x18 3,30 CzK
64 |761483 Sroub 1 | M5x5 4,40 CzK
65 |761399 Podlozka 1 |7.2x13x0.3 2,10 CzK
66 | 623042 Doraz 1 |EFH 36 65,40 CzK
67 |614489 Kuli¢ka 1 | D8 G40 ISO 3290 9,60 CzZK
68 | 653969 Pruzina 1 |0.63Ax6.3x11.5 17,10 CzZK
69 |832839 Sroub 1 |M4x2.5 5,70 CzK
70 | 761587 O krouzek 1 |4x1.5 2,30 CzK
71 | 841461 Péka 1 |EFH 36 2,60 CzK
72 619872 Sroub 4 | M6x16/30 10,50 CzK
73 | 66654035 Pruzina 2 |0.5Ax7.1x15 9,60 CzK
74 842124 Zékladna 1 |OF 2361 411,00 CzK
75 |618901 Stavéci Sroub 1 [M6x8 4,10 CZK
76 | 655406 Vodici ty& 2 |OF 2361 92,10 CzK
77 | 676152 Pouzdro se stupnici 1 |OF 2361 49,40 CzZK
78 |430080 Sroub 1 |M4x8 17,40 CzK
79 |649325 Vieteno 1 |OF 2361 42,80 CzK
80 |841460 Deska kluznd 1 |OF 2360 32,60 CzK
81 |634676 Sroub 6 |M4x10 Torx 614862
82 |841476 Podlozka 1 | 36x50x2.5 13,20 CzK
83 |832795 Sroub 2 |M5x8 1,80 CzK
84 |761477 Sroub 4 | M4x10 1,00 CzK
85 |841467 Uhelnik 2 |OF 2361 16,90 CzK
86 |623142 Paralelni doraz 1 |EFH 36 163,70 CzZK
87 |617818 Paralelni doraz 1 |PG-EFH
88 | 841459 Nastavec odsavani 1 |OF 2361 34,40 CZK

str. 40d 5




631258 Identif.CD: Narex CZ

Poz Cislo Nazev M | Odkaz Norma Pozhamka Cena Ména |Nahrazuje |Nahrazuje
ice n. II. L.
89 |841483 Podlozka 1 | 20x50x2.5 20,00 CzK

90 |616054 Kli¢ 1|17 23,40 CzK

91 |830296 Kli¢ 1 |8x10

92 | 842299 Podpéra 2 |EFH 36 63,80 CzK

93 |842301 Drzadlo 2 |EFH 36 32,10 CzK

94 | 842300 Drzadlo 2 |EFH 36 32,10 CzK

95 | 615486 Lozisko 1 |60032ZCE 91,90 CzK

96 |426415 Sroub 2 |M4x8-Z DIN 7500 9,60 CzK

97 | 625587 PfiloZka 2 | EFHP 36-E9 4,10 CzK

40 626200 Pojistny krouzek 1 [11

str. 50d5



